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program program22

15xmp nodes p(3)
1Sxmp template t(30)
18xmp distribute t(block) onto p
real a(30,30)
1Sxmp align a(*,j) with t{j)
1Sxmp shadow a(0,1)
1= IR S ERRE
1$xmp reflect (a)
L PR T RS
18xmp loop on t(j)
do j=1,30
doi=1,30
ali,j) = afi,j}+alij-1)+a(ij+1)
enddo
enddo
end program program22
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SET—5 AR
for=: 3

program programz23
1$xmp nodes p(3,3)
1Sxmp template 1{30,30]
1Sxmp distribute tiblock,block) onto p
real a(30,30)
15xmp align a(ij) with t{ij)
1$xmp shadow a(1,1)
1= RE i B ERRE T
1Sxmp reflect (a)
1L =T TR S
15xmp loop [i,j) on tlij)
do j=1,30
doi=1,30
afij) = alij)+a(i-1j)+alij+1)+a(i+1j+alij-1)
enddo
enddo
end program pregram23
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program program24

INTEGER N=100

real A{N), B(N)

1Sxmp nodes P(4)

1Sxmp template TA{N)

1$xmp template TB(N)

1Sxmp distribute TA{block) onto P
ISxmp distribute TB{cyclic) onto P
1Sxmp align Ali) with TA(i)

1Sxmp align B{i) with TB(i)

1$xmp gmove

B:) = A(:)

end program program24
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program program25

integer M=10,N=10

real A(M,N), B{M,N)

1Sxmp nodes P(4)

1Sxmp template T1{M)

15xmp template T2{N)

1Sxmp distribute T1(block) onto P
15xmp distribute T2(block) onto P
1Sxmp align Afi,*) with T1(i)
1Sxmp align B(* j) with T2(j)

1Sxmp gmove
B(z:)= Al
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program program26

real A{22), B[22)

1Sxmp nodes P(4)

1Sxmp template TA[22)

1Sxmp template TB(22)

INTEGER WA(4)=(/6,8,4,4/)

INTEGER WB(4)=(/3,8,5,6/)

ISxmp distribute TA(ghlock{wa)) onto P
1Sxmp distribute TB{gblock{WB)) onto P
1Sxmp align Ali) with TA(i)

ISxmp align B{i) with TB(i}

ISxmp gmove
B(:)=Al:)

end program program26
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program program27

integer M=100,N=100

real A{M, N), B{M)

1Sxmp nodes P(4)

1Sxmp template T2(N)

1Sxmp distribute T2(block) onto P
1Sxmp align A(*,i) with T2(i}
15xmp align B{i) with T2(i)

k=1

1Sxmp gmove

B(z) = Al:k)

end program program27
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